





Reference Description Date By lfem Part No. Description QTY
HO3 Removed (4] X152, {4] XF-205, {T] XM-80TTAB, 1] 1/25/2023 RWP No. i
XM-8011A-T; Customer Approved 1 XA-8001C-32-B Finger Body 32xx Bot No Ramp 7
2 |XA-8001C-32-T Finger Body 32xx Top No Ramp 6
3 |XF-110 1/4"-14 Thd Fmg Screw 13
4 |XF-111 Bolt 1/4-20 x 1/2 SS SHCS 8
5 |XM-8004-8683E Finger Inner Plate Perforated 2
6 |XM-8004-8689E Finger Inner Plate Perforated 5
7 |XM-8004-8694F Finger Inner Plate Perforated 5
8 |XM-8010D-xx70-B Finger Support Angle 1
9  |XM-8010D-xx70-T Finger Support Angle 1
10 |XM-8024B-xx70 Return Air Plate 5
1T |XM-8025B-3240-xx70 Endloss Plate 2
12 |XM-8493E 32xx Finger Outer Plate 1
13 |XM-8622E 32xx Finger Outer Plate 5
14 |XM-8694F 32xx Finger Outer Plate 5
15 [XM-8698E 32xx Finger Outer Plate 1
16 [XM-8699%E 32xx Finger Outer Plate 1
Top
Back Of Oven e Cigurahion(s) At Nered Selow.
Rosoion | e’ | Soopl [Apee.|  Date valasion
B17-4-2 SQ 60 Hz X 8/17/2021 Joel Brown
B17-6-2 SQ 50 Hz
BOTTom Legend: FonNngng Eénzrggessfyge 4 gureé i
Fan Rotation: CW =1, CCW=2
Front Of Oven
WOLFE ELECTRICINC XLT OVENS
WICHITA, KANSAS Finger Chart Papa Johns
UNLESS OTHERWISE SPECIFIED: MATL
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF fi?g*gﬁifg? FoN s B%mﬂ%'ﬁsxé&%.&%HE.SX%T%%%NCES ARE: = See BOM <
WOLFE ELECTRIC INC. ANY REPRODUCTION IN PART OR WHOLE WITHOUT  p/ask OR CHANGE. | WEIGHT ANGULAR: “+1* " FRACTIONS: ~ £1/32 oW/ HEET 1 OF 2

THE WRITTEN PERMISSION OF WOLFE ELECTRIC INC IS PROHIBITED. 187.45 ORAWNBY RWP | DATE  2/27/2020 XA-8H32701 B-PQpJohRL DO NOT SCALE




Reference] Description Date By '}f;” Part No. Description QrY
13 AT XF-T52, (3] RF205, (1T XFA-E0TTAE, 1] A
HoZ O 801 1AT: Cuslomes Approved 1/25/2023 | RwP 1 |XA-8001C-32-B Finger Body 32xx Bof No Ramp 7
2 |XA-8001C-32-T Finger Body 32xx Top No Ramp &
) J' 3 [XF-110 1/4°-14 Thd Fmg Screw 13
AFP(J . 4 |XF-111 Bolt 1/4-20x 1/2 §5 SHCS B
fodn S ~I7-2( 5  |XM-8004-86B3F Finger Inner Plate Perferated 2
’508 k 6 |XM-8004-8489E Finger Inner Flate Perforated 5
7 |XM-8004-8694F Finger Inner Plate Perforated 5
8 |[XM-8010D-xx70-B Finger Support Angle 1
?  |XM-8010D-xx70-T Finger Support Angle 1
10 |XM-8024B-xx70 Retum Air Plate 5
11 [XM-8025B-3240-xx70 Endloss Plate 2
12 |XM-B493E 32xx Finger Outer Plate 1
13 |XM-B8822E 32xx Finger Outer Plate S
14 |XM-BE94F 32xx Finger Outer Plate 5
15 [XM-B&9BE A2xx Finger Outer Plate |
16  [XM-8499E 32xx Finger Outer Plate 1
Top
Back Of Oven T e et
Roialon | Typs | Sucly |APP.|  Date valdaon
B17-4-2 50 &l HE o By Joal Broswn
B17-4-2 3Q S0 He
BGHOm Logend: " nmwmnaadm a3,
Fan Rotalion: CW = | chnz
Front Of Oven
WOLFE ELECTRIC INC XLT OVENS
v SEmmmmeEm e oo |
THE'?IEFDHMAMN cmam%mls DH\'.-"\IHEAIES'TSE ﬁl&;m% OF | approwaL of pechas lg‘xm?‘”l mm‘-m'u I SKEET | of 9
T2 WRTIEN PERMISSION OF WOLFE ELECTRIC. SN 15 PROMBITED. |RCASEQRCHANGE. | WESHT 1 88 20 ceawnEr RWP | DAL 279772020 XA-8H32701B-PapJohRL DO WO SCaLt
DESCRIPTION
WOLFE ELECTRIC INC XLT OVENS
WICHITA, KANSAS Finger Chart Papa Johns
UNLESS OTHERWISE SPECIFIED: MATL
S TOMAION CONNDIL LI DIAUNG s BE SISO o SR SR RIS g o0 Y
THE WRITTEN PERMISSION OF WOLFE ELECTRIC INC IS PROHIBITED. RELEASEOR CHANGE. | WEIGHT 187 45 oRAWNEY RWP | DA 2/27/2020 XA-8H32701B-PapJohRL

SHEET 2 OF 2
DO NOT SCALE



Reference Description Date By lfem Part No. Description QTY
Ho3 Removed (4] XF-152, (4] XF-205, (1) XM-801TA-B, (1) 1/25/2023 RWP No. i
XM-8011A-T; Customer Approved 1 XA-8001C-32-B Finger Body 32xx Bot No Ramp 7
2 |XA-8001C-32-T Finger Body 32xx Top No Ramp 6
3 [XF-110 1/4"-14 Thd Fmg Screw 13
4 |XF-111 Bolt 1/4-20 x 1/2 SS SHCS 8
5 |XM-8004-8683E Finger Inner Plate Perforated 2
6 |XM-8004-8689E Finger Inner Plate Perforated 5
7 |XM-8004-8694F Finger Inner Plate Perforated 5
8 |XM-8010D-xx70-B Finger Support Angle 1
9  |XM-8010D-xx70-T Finger Support Angle 1
10 |XM-8024B-xx70 Return Air Plate 5
1T |XM-8025B-3240-xx70 Endloss Plate 2
12 |[XM-8493E 32xx Finger Outer Plate 1
13 |XM-8622E 32xx Finger Outer Plate 5
14 |XM-8694F 32xx Finger Outer Plate 5
15 [XM-8698E 32xx Finger Outer Plate 1
16 [XM-8699%E 32xx Finger Outer Plate 1
Top
Back Of Oven e CoRfuration(s) As Nored Ssiaw:
Rosoion | e’ | Soopl [Apee.|  Date valasion
B17-4-2 SQ 60 Hz X 8/17/2021 Joel Brown
Bottom BI762 | SQ | 50Hz
Fan Style: BT/ =T52 Style {True 17]
Legend: No. Of Fan Blades: 3, 4 or 6
Fan Rotation: CW =1, CCW=2
Front Of Oven
WOLFE ELECTRICINC XLT OVENS
WICHITA, KANSAS Finger Chart Papa Johns
UNLESS OTHERWISE SPECIFIED: MATL
SIGNATURE ON ECN IS DIMENSIONS ARE IN INCHES & TOLERANCES ARE: See BOM
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF | ApPROVAL OF DECIMALS: X.XX $0.030 XXX 0.010 S o
WOLFE ELECTRIC INC. ANY REPRODUCTION IN PART OR WHOLE WITHOUT  p/ask OR CHANGE. | WEIGHT ANGULAR: “+1* " FRACTIONS: ~ £1/32 ] OF 2

THE WRITTEN PERMISSION OF WOLFE ELECTRIC INC IS PROHIBITED. 188.20 DRAWNBY RWP | DATE  2/27/2020 XA-8H32701 B_PQpJthR DO NOTSCALE




[T bt o,

~  Doscrotion Dale ﬂ-v_} | 'No Descriglion T |
P p— e | wo | || DASIOTCIE FingerBod, 3n bol Mo Rorg | 7|
T W T A0 7O B (BTG | ];-1:-2-:-:-; = | : 2 [AA-B00RC-32-T ]FII“-E_'J Body 32kx lop No Ramo &
T [ : | 3 [MWF-111 goll 1/6-20 x 112 55 SHCS a
== | 4 |Mia-800-8683E irvger inner Plole Pedforobeo 3
Approval |3 _IXM-BD04-860¥E  IFingerinner Piole Perforoled | 5
81(1 ? Ria-B004-8aFF Finger Inner Piole Perforoied 5
) Dotp OF B F RM-BD1OL AP OB FINger Suppar Ange i
- 5 K_M_E:HC&:-J&?:H Fingsr Suppart Angla |
7 |XM-BDIIAS Finger Relciner Clip N IE
10 |XM-80248 %278 _[Retun air Aigte - T 5 |
11 [xm-B80258-32400x30  [Enclios: Plaie ' il
) 12 |Xm-BE%3E F2wx Finger Oular Plale (.
E_‘.E';i Xh-BETZE Tl Finger Outer Plate 1 T
T = Finger Quier Flale 5
M-BE98E 32xx Finger Outer Plate ]
WM -BAFRE 32 Finger Outer Plote | | |
; wmesEesar ]
EREEREEEI D J
\ LEras | = Al e | _7
A W N 1 e I i '.:J:J Wity : i a :II-.' Ihﬁ;lt.a. -‘-;‘:.'x-,r L D |
=i ". s 4 ) : "'..IV LEfgm -.q..n rr\:' ol t.,:., .
a—_,"'ll _L L Ve Tt Vhaaed ‘\'\—\‘.\ Top e e
.-:: = e LY b Y
. > ‘5"'_@ 'I'_@—- '::‘["\:7 L — 1= ) L1 \1__ X
B ¢ Conveyor B 3ME-G3T ; i~
=8, (E StOyavs ovor Direction = & -
\ I i 1.E_|_5_H-—| f*-&:'--fﬁ‘- ey e Besck Of Oven
\ > 1903 - e
! b ‘{L‘F &)
Baliom
@
= = |—‘—-f_, 7 worFEELECTRIGING 7 XLT OVENS
Froni OF Oven = WICHITA, KANSAS Fingar Chorl Popa Johms
e a1 SR 1 “% seaBOwW
| XA-BH32701B-PaplohlR setcsg’
DESCRIPTION
WOLFE ELECTRIC INC XLT OVENS
WICHITA, KANSAS Finger Chart Papa Johns
UNLESS OTHERWISE SPECIFIED: MATL
SIGNATURE ON ECN IS DIMENSIONS ARE IN INCHES & TOLERANCES ARE: See BOM
WOLFE EECTRIC ING. ANY REPRODUCTION N FART OR WHOLE WiTHOUT | ACPROVALOR RRUAR P 208 00, owe ST 9 OF o
THE WRITTEN PERMISSION OF WOLFE ELECTRIC INC IS PROHIBITED. RELEASEOR CHANGE. | WEIGHT 88 20 DRAWNBY RWP | DATE  2/27/2020 XA-8H32701B-PapJohLR DO NOT SCALE










	3270H-1B Spec Sheet 2023 PJ Front CMYK
	3270H-1B Spec Sheet 2023 PJ Back CMYK
	XA-8H3270-1B-PapJohRL
	Sheet1
	Drawing View1

	Sheet1(2)

	XA-8H3270-1B-PapJohLR
	Sheet1
	Drawing View1

	Sheet2

	3270H1B_Hood_Specs_2022V1
	3270H-1B Spec Sheet 2022v1 Front
	3270H-1B Spec Sheet 2022v1 Back


